
1

1/3

1

2

3

4

5

6

7

8

9
 Ø5

M8x50

M8x20

8-16

1

1

1

1

2

8

10

1

9
7

8

STEVESTON DINING TABLE  / TABLE STEVESTON
ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D'ASSEMBLAGE

NO PARTS LIST /
 LISTE DES PIÈCES

QTY/
QTÉ



1 1

2

3

4

5

6

7

8

9
 Ø5

M8x50

M8x20

8-16

1

1

1

1

2

8

10

1

STEVESTON DINING TABLE  / TABLE STEVESTON
ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D'ASSEMBLAGE

NO PARTS LIST /
 LISTE DES PIÈCES

QTY/
QTÉ
2/3



3/3

STEVESTON DINING TABLE  / TABLE STEVESTON
ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D'ASSEMBLAGE

Engage pin to prevent tabletop from moving freely when extended.
Engager la broche pour éviter que ne bouge le dessus de table lorsque celle-ci est déployée.




